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Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

M :  TE YT AEH (80) IR H T S A (03)
wuel %, @ 9 7§ fawfya B YO wre §
feu T fagga el & STAR & US hl A B
2

SECTION-A/( @US-%h )
(Long Answer Type Questions)/( €&l 3T T W9T)

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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qMe : @IS ‘H H 9R (04) < IUU G ged A ™
2, T eI & fau 3= (19) &iw fuifa #)
foenfell @l 399 @ Sod g YT ® SW A B

1. Narrate the present position of unemployment in India.
Suggest measures to solve the problem.

aRd W S i aaam feafa w1 9vl wifsw 3w
qaE % 9aE & fau ggme el

2.  Why is the productivity of Indian agriculture low? Narrate
the steps taken by the Govt. to cope with the problem.

IRAT HY H SAREHA FH F 82 TH WM H WHER
T FT ITerE IS

3. Distinguish between cottage and small scale industries. State
the importance of SSIs in our economy.

FER T @Y TN H =R T HINC IRAE STeieqasen
Y 3T ST T He TR SIS

4. What do you understand by privatization? Explain the factors
which affect privatization in India.

Frefirtor @ 9 o1 g9 27 AR | SR 1 9Ra
HE G Il &t foaE Fifswl
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SECTION-B/ @Us-@ )

(Short Answer Type Questions)/( T I AT Y9 )

Note : Section 'B' contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer any four (04) questions only.

(4x8=32)

Me: g ‘@ § e (08) o ST ad A fA
T €, T Y & forg eme (08) ek faifa
g1 fenfefai = 3 @ wad W) (04) WA &
SW A T

1. Distinguish between fiscal policy and monetary policy.

o fifq T g dfifa ¥ A9 it

2. Explain the relationship between inflation and interest

rate.

TS TR @ AN R H R TR Rt

3.  What is meant by 'Human Development Index'?

oHa fas™ gEwe w1 o iy ®2
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4. Write a note on disguised unemployment.

(Y N W feoqoft fafag)
5. What is minimum support price?

S[aH wHeH qed @2

6. What is meant by 'vicious circle of poverty'?

‘Frafar & goes’ w1 @ o @7

7. State the barriers in entrepreneurial development.

IUfar fame@ d s ol e fafau)

8. Narrate the methods of estimating the national

income.

TEE 3™ & 79 &1 dfcl &1 oo wifv
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Note :

SECTION-C/( @us-1T)

(Objective Type Questions)/( Eﬂﬁﬁﬁ TIT)

Section 'C' contains ten (10) objective type questions
of one (01) mark each. All the questions of this section
are compulsory. (10x1=10)

e ‘M § 7w (10) qeAtTS T A W OT,
TRd U @ foau T (01) @i fuifa ?1 =W
e % |t e st 2

Select the correct option.

gt fasred &1 T3 wifSg)

1.

In the field of development banking, MUDRA stands for:

(a)
(b)
(©)
@

Micro Units Development Refinance Agency
Macro Units Development Refinance Agency
Manufacturing Units Development Refinance Agency.

None of the above

o ST ® &9 W g o omE e A 9w R-

(37) g&H TR fawm @l To

(9) g8 gohe form qHAfAT Tl
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(W) fafmor swE faem gAfdq Tert
(3) S H HiE

2. The difference between visible export and visible import is
called--

(a) Balance of trade
(b) Balance of payment
(c) Profit from trade

(d) Loss from trade

T fafa @R 97 o & = o W e § 9§ @
FEd &

(37) MR I

(&) PIA g

(9) MR 9 o9

(3) =R 9 =

3. In the world trade the highest share is :
(a) India
(b) China
(c) USA
(d) Japan
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fovg =R § waifyes fedsd g § 9 forg w1 22
(37) 9Ra

(&) ==

(¥) JuHT

(%) S

4. The term tertiary sector refers to -
(a) High technology industrial sector
(b) Service sector
(¢) Voluntary sector

(d) Small and medium industries

Jiaw &9 F oo fe\ W @ Fm R
(37) =9 TR SEM &
() He &

(W) @F T &

(%) &Y T TeEw M
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S. The SARFAESI act 2002 is related to:
(a) Land reforms
(b) Tax reforms
(¢) Insurance reforms

(d) Banking reforms

‘e faftEm 2002' fRER wwfed @7
CON CRE-CL
(q) F R
(F) i gur

() dfFT guR

6. The Census of population is organized after every:
(a) Five years
(b) Ten years
(c) Fifteen years

(d) None of the above
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SOl fe H @ fRad aeleg e SRR 2
(31) Wi I @]
(9) €9 99 4R
(9) T58 99 9K

(%) SHE= 9 HE Tl

7. The SDR refers to:
(a) Special drawing right
(b) State drawing right
(c) Special dollar right

(d) Specific dollar right

‘Tadter’ w1 ol e § 9 o @
(31) foR o sfereR
(9) TF e SRR
(F) foe efer sAfuepr

(3) fafsre sfer stfumR
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8.

The inflation is called as 'running inflation', if it is above:
(a) 3 per cent p.a.

(b) 5 per cent p.a.

(c) 10 per cent p.a.

(d) None of the above

o TR Rl ‘Sredt g S’ e W @, A o
(31) 3 wfaera ufd a9 | sifuss =@
(9) 5 wfaea ufd o @ sifuss =
(F) 10 gfaem ofq ad ¥ eIfuss o

(%) SHE= 9 HE Tl

The concept of GST was evolved in:
(a) Canada

(b) Sweden

(¢) China

(d) India

StTHA. sEuRen w1 ugdE T H 9 el g
(31) e

() wreT

(®) ==

(3) 94
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10. Bitcoin (Cryptocurrency) can be traded on:
(@) London stock exchange
(b) Bombay stock exchange
(c) Hong Kong stock exchange
(d) None of these

faeaisr (fremid) § 9 o 9 Fel =R f&a s
872

() ¥ v THgHS

(9) 9= Tk TS
(9) TF FHM Lk THEA

() SH= 9 HE Tl
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